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In this study the same target and kinematics is used as used in the E12-17-003 Experiment

Target Parameters Used: Kinematics Used:

Target wall thickness = 400 pm Beam energy = 4326.0 MeV

Target Length = 25 cm Electron arm central momentum= 2218.0 MeVIc

Target diameter = 12.7 mm Electron arm angle =13.2°

Target thickness = 84.8 mg/cm? Hadron arm central momentum = 1823.0 MeV/c
Hadron arm angle =13.2°

Electron arm = HMS
Hadron arm = SHMS




Energy Loss for the Beam Electron:

SIMC doesn't have any leaf variable to calculate the energy loss for the beam electron when it
passes through the Al window (target cell entrance window), so it can not be printed in a
histogram. However, it can print the average energy loss as a number.

In this study, | ran 500 K events. The average energy loss when the electrons passes
through the Al entrance window is as follows:

Lowest value = 0.15960 MeV
Highest value = 0.41815 MeV
Average energy loss = 0.23443 MeV

Note: The average energy loss may be different if we run different number of events.
For 500 K the average loss ~ 0.23 MeV.
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Electron Energy Loss vs in-plane angle (hsyptar)
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Kaon Energy Loss vs in-plane angle (hsyptar)
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